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QUESTION 1

A customer wants to know how to use the audit log for Storage Navigator. 

Which two statements are true? (Choose two.) 

A. The audit log is stored in the Web Console. 

B. The audit log can be accessed from Storage Navigator. 

C. The audit log is only viewable by the root user. 

D. The audit log can be downloaded for offline viewing. 

Correct Answer: BD 

 

 

QUESTION 2

What are two effects of persistent binding? (Choose two.) 

A. Persistent binding can speed up path failover. 

B. Persistent binding guarantees Command Device security. 

C. Persistent binding can speed up the server boot process. 

D. Persistent binding guarantees that target assignments are preserved between reboots. 

Correct Answer: CD 

 

QUESTION 3

Which three products can be used to configure and manage Hitachi Dynamic Provisioning (HDP) on a VSP? (Choose
three.) 

A. Protection Manager CLI 

B. Device Manager GUI 

C. Provisioning Manager GUI 

D. Device Manager CLI 

E. raidcom 

Correct Answer: BDE 
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QUESTION 4

Which two statements about LU Size Expansion (LUSE) are true for a Hitachi VSP system? (Choose two.) 

A. LUSE volumes can reside on external storage. 

B. You can make a LUSE from LDEVs on different CUs. 

C. You can only make a LUSE when LDEVs are the same size. 

D. You can make a LUSE from LDEVs of different emulation type. 

Correct Answer: AB 

 

QUESTION 5

Which two components are part of the VSP HiStar-E architecture? (Choose two.) 

A. MCH 

B. BED 

C. HDD 

D. SVP 

Correct Answer: AB 
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